


= 1
(f) If x=u(l+vhp=swl+u) then find r,_{_t_-,_}
el v)
(g) Find curl 7.
{h) State Green's theorem.
{i) Compute 1'(=3/2).
2 =
. X2
() Evaluate ”” dvelx .
|
SECTION-B
Note: Attempt allthe questions from this section.
2 Attemnpt any two parts of the following® [2x4=8]
(a) Find the rank of the following matrix by
reducing it into normal form
T E (L= |
{ _| I ) |
o ol ke
el =2, sl
(b) Investigate for what values of Aand u , the

system of equationsx + y+2 = Gix+23+3z =10
x+2y+Az=pu has (i) no selution, (i) unique

solution, (iii} infinite number of solutions.

8301/400 (2)

4

{c) Find haninyeeiae el BEes e 2

glementary transformations

[y )
2 -3 4|
| |
0 -1 b

Attempt any two parts of the following: (2x4=8]

Xy ot
K w=tan" ———7 ! then prove th

JLAX

(a)

-|_:
e )

 —

oxcly

5 n. A
(1+x° 0 e

(b) If w=clogp+ylog s T X where

X - W _
= SN SEhH ]2 =003 't. find 2 ati =0

ai

. 3
Trace the curve V- (a=x)=X

(c)
Attempt an';.r two paris of the following: [2x4=8]
(a)  Obtain the Taylor's series expansion of
maximum order for the following function 1n
POWErS of (x=1) and (v+1)
flx.y) =25 XY+ Jr—dy+l.
8301/400 (3 {P.T.D.]




(B}

(c)

5. Attempt any two parts of the following:

(a)

(b)

(c)

8301/400

If x=u(l-v) and y=uv verify  that

Alu,v) B(x.y) _

- ; i)
a(x.y) dlu.v)

Find the percentage error in computing the

parallel resistance r of two resistances 7 and

r,when r and r, are both in error by +2% each.
[2x4=8]

Find the directional derivative of
= xy+ yz + zxin the direction of 2 + :r +k at
the point (1,1,2). Also find the maximum value

of directional denvative
Prove that Curl (V') = Vo x V4 oCurl V

Prove that V" (r"™) = mim+ 1y and hence

show that V°( -k-J = ()
¥

(4)

[Ei

Fobitn sl DY LSS LN Bttt ad ot

|
j <" (1-x")" dx in terms of Beta

(a) Express
1]
I .
function and hence evaluate I o (1-x")" dx
(B) Evaluate the following integral by changing Into
polar coordinates
I I — 1II— — 'I.'lrl"l'ii"t'
o0& oy X~k .]' .
(c) Evaluate ﬂj x* yzdedydz throughout the

volume bounded by the planes x=0, ¥ = 0,

X ¥ bof
7= 0and the plane =+ + =1
e

SECTION-C

Note: Attempt any three questions from this section.(3=7=21)

7. Verify Cayley-Hamilton theorem for the following

matrix and hence find A o gt
G2 52 2

1 —I'.’ﬁ|
%) “.l

,.-'1'-' :
-1

|

§301/400 {5) [P.T.0]




10.

i

IR TR fe QIS e lEWGe Bk =8 ] REER . RAAR AR B

3

y =| log( x + x.."LT .\?':-IH

-

Find the dimensions of a rectangular box of maximum
capacity whose surface is given when box Is open at
the top.

Verify Stoke's theorem for F=(x +_'|-': )i -1111_;;' taken

around the rectangle bounded by x=ta.v=0.v=h.

Change the order of integration in the following integral
and hence evaluate il

5

I= j Lj (x4 v Jedxely

e

8301/400 (6)
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Question Paper Code : 8303
B.Tech. (Semester-1) Examination, 2017
ENGINEERING CHEMISTRY
(AS-102)

|Time: 3 Hours] [ Total Marks: 70|

Mote: This question paper contains three sections as follows.

SECTION -A
1. Attempt any nine parts of the following: [9x1=09]
(i) Give reaction for removal of temporary hardness

in a water sample by bailing.

(ii) Predict the number of 'H NMR signals and
splitting in (CHs):CHCH.CL.

(iii) Name the sugar moiety present in RNA and
DNA.

(iv)  Write the structure of EDTA.

(v) On the basis of MO theory explain why QO; is
paramagnetic.

8303/200 (1) P.T.0)




(vi) Name the monomers for the preparation of Buna-
N.

(vii)  Why GCV is greater than NCV?

(viii)  Define degree of freedom.

(ix) ~ What will happen if a Zn rod is vertically half
submerged under water?

(%) What is the fingerprint region in IR spectroscopy?
SECTION-B
Note: Attempt all the questions from this section,
2. Attempt any two parts of the following: [2 x 4=8]

(a) What are stoichiometric and non-stoichiometric

defects? Explain Frenkel and Schottky defects
found in solids.

(b) Draw the molecular orbital diagrams of N5~ and
calculate its bond order. Will

N; beparamagnetic or diamagnetic?

(c) Discuss the structure end applications of
Fullerenes.

(a)

(b)

(c)

(@)

(c)

83037200

Attempt any two parts of the following: [2 x 4=8]

Differentiate between Chain Giowth and Step

Growth polymerization process.

What are organometallic compounds? How will
CH;CHQMQBF react with HGHD. CH3GHD.
and {CHQ,]QCD?

Explain vulcanization of rubber. Give the

preparation and uses of Neoprene rubber.

Attempt any two parts of the following: [2 x 4=8]

What are Solid Lubricants? Explain the

mechanism of lubrication by solid lubricants.

Explain the setting and hardening of cement

with relevant chemical reactions involved.

The emf of a cell measured by means of a
hydrogen electrode against a saturated calomel
glectrode at 288 K is 0.4188 V. If the pressure
of the H (g) was maintained at 1 atm, calculate
the pH of the unknown solution, given potential

of reference calomel electrode is 0.2415 V.

(3) [P.T.O.]




5. Attempt any two parts of the following:

(a)

(b)

()

6. Altempt any two parts of the following:

(a)

8303/200

12 x 4=8]

How are scales formed in the boilers? How
can scale formation be prevented in boilers?

A sample of water contains following impurities
{in mg/L); Mg(HCQ;),=73; CaS0O, = 88
MgSQO.= 12; MgCl;=95; Ca(HCO;),= 81: NaCl=
4.8. Calculate the amount of lime (95% pure)
and soda (90% pure) required for softening
20,000 litres of this water sample.

Discuss the application of phase rule to water,
vapour and ice system.

[2 x 4=8]

On burning 0.3g of a solid fuel in a bomb
calorimeter, the temperature of 3500g of
waterincreased from 26.5° to 29.2° C. Water
equivalent of calorimeter and latent heat of
steam are 385.0g and 587.0 cal/g respectively,
If the fuel contains 0.7% hydrogen, calculate its
gross and net calorific value.

What are chromophores and auxochromes? A
diene (molecular formula C.Hs) shows an
intense peak at Ay, 217 nm while another
diene (molecular formula C:Mg) shows an

{4)

(c)

intense peak at Ans 175 nm in their v
spectra. Giving proper explanation assign the
structures to the two dienes.

For XY. bent molecule show various types of
stretching and bending vibrations in IR

spectroscopy.

SECTION-C

Note : Attempt any three questions from this section: [3x7=21]

7. (a)
(B)
8 (a)
(b)
9 (2)

(b)

83032/200

What are liquid crystals? Describe different
types of liquid crystals.

\Write a brief note on nanc materials and its

applications.

What are Aramids? Give the preparation and
uses of Kevlar and Nomex.

What are conducting polymers? Discuss their

applications.

How can corrosion be minimized by proper

design?

Differentiate between anodic and cathodic
metallic coatings.

(5) [P.T.0]




10.

1.

Explain the zeolite process for softening of water. The
hardness of 10,000 litres of water zample was
removed by passing it through a zeolite softener. The
zeolite softener then required 200 litres of sodium
chloride solution containing 150 gm/ litre of NaCl for
regeneration. Find the hardness of water sample in
ppm.

Why is TMS used as an internal standard in NMR
spectroscopy? Two isomeric compounds A and B have
molecular formula CyHys. The 1H NMR spectra of
these isomers gave following data:

lsomer A: & 1.30 (9H, s); & 7.28 (5H, s)

Isomer B: & 0.88 (6H, d); 8 1.86 (1H, m); & 2.45 (2H,
d); 57.12 (5H, s)

N - W

8303/200 (6)




Question Paper Code : 8304

B.Tech. (Semester-1) Examination, 2017
BASIC ELECTRICAL ENGINEERING
(EE-101)
|Time: 3 Hours| ITotal Marks: 70|

Note : This question paper contains three sections as
follows.

+ SECTION-A

1 Attempt any Nineparts of the following:- [Bx1=9]
(a) Define active elements.
(b) Define bilateral elements.
(c) Define Form factor.
(d) Define RMS value.
(e) Define power factor.

(f) What iz the condition of maximum power
transfer?

(g) In star connection give the relation between
phase voltage and line voltage.

83047300 (1) [P.T.O.]




(h) List different types of measuring instruments.

(i) Draw B-H curve,
)] Write emf equation of single phase transformer.
SECTION-B
Note : Attempt allthe questions from this section.
2. Attempt any two parts of the following: [2x4=8]
(a) Derive the expression for star to delta
transformation
(b) Find the current in 15 ohm resistor (Fig. 1) by
Thevenin's theorem :
100
100 20 0 20 £3 15 0
D
Fig. 1
(c) Find current in 5 ohm resistor (Fig..2) by source
transformation method :
8304/300 (2)

‘a0 | Yan

i - ; - ..,-\. 1. .Ibﬁ o
T2h T=an o~ 80 2 T A =80
T : ; |
Fig. 2
Attempt any two parts of the following:- [2x4=8]

DC machine has 200

rmature of a 4-Pole
e o rpm. 1he emf

conductors and runs at 60 | ;
generated in open circuit is 520y, Find the

useful flux per pole when armature is .

(i) Lap Connected.

(i) Wave Connected.

the construction diagram of 2 DC

b Draw il
. its parts in brief.

machine and describe

(c) Explain the principle of operation

synchmnr.:-usgeneratur,

$304/300 (3)
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J || T RS AIW0 parts of the fﬂflnMng;- [2x4= 8 (0 Full load
(@) Three 3
impedan .
‘ (8 + j10) are m:es © * 5 @8 ang (i) Halfload.
R : nected in parallel. Calctlate
ent in each branchwh (b) Describe the analogies and differences
. is 20 A ©n the total current
‘ f . = between the electric and magnetic circuits.
()  Deri .
erive phase ang line valtage relation (c) Derive the equivalent circuit of a single phase
| connection, 1on in delta :
(| transformer.
| (€} Explai
fl plain rESOnE‘nCE in paralle| c"muﬂs SECTION-C
' S, Attem '
pPtany tw
||| Y tWo parts of the following:- [2x4=g] Note : Attempt any three questions from this section [ 3x7=21]
[ (@) Prove tha
{ , i t the sum of two wattmetar readings 7 Explain bandwidth and quality factor.
© total three phas
e real po
/ (b) Draw and BRI, 8. A varying current with a periodic waveform flows
explai A | -
. o] Pain the principle of operation of 5 through an 8 ohm resistor in accordance with the
' eter ' :
| ‘ & ype instrument following pattern:
©  Explain the
cons
,I operation  of truction and principle of (a) For the first 0.04 second, it is constant at 6 A
repulsion
- ' instrument e moving - iron (b) For tr';e next 0.02 second, it is zero
| 6. A
[ empt an
r ¥ tWo parts of the following:. [2x4=g) (c) For the remaining 0.04 second, it is constant at
' @ A4 . i 2 A in the reverse direction.
3 fKUA single phase transformer has core
ss of 4 o =
s S0W and fu load copper loss of 8501y Determine (i) the mean value (ii) the r.m.s value (i) the
e load | heat dissipated in the resistor in 5 minutes.
efficiency at - 241508, calculate ;
' 8304/300

(4)
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—

eSS, Sm—

9. (a) Calculate the line current of a three phase

alternator delivering 5 MW at 33 KV and
working at 0.8 power factor.

(b) Draw single line diagram of the power system.

10. A magnetic core in the form of a closed ring has a
mean length of 20 cm and a cross section of 1 em?.
The relative permeability of iron is 2400. What direct
current will be needed in a coil of 2000 turns uniformly
wound round the ring to create a flux of 0.2 m Wb in
the iron?

1. Explain the principle of operation of a three-phase
Induction motor,

Rl

8304/300 (6)




Question Paper Code : 3305

B.Tech. (Semester-l) Examination, 2017

ELEMENTS OF MECHANICAL ENGINEERING

[Time: 3 Hours)

(ME-101)

[Tetal Marks: 70]

Note:This question paper contains three sections as follows:

SECTION - A
) Attempt any nine parts of the following: [9x1=9]
a) Define Hooke's law.
b What do you mean by composite and alloy?
c) Define the principle of transmissibility of force.
d) State Varignon's theorem of moments.
e) Define perfect and imperfect truss.
f) Write the expression for maximum bending

8305/200

moment of simply supported beam (length L)
carrying uniformly distributed load of w per unit

length.

(1) [P.T.0.]




h)

Write the expression for work done and heat
transfer for adiabatic expansion from initial
condition (P, V) to final condition (P5, Va).

Differentiate between intensive and extensive
properties with example.

Differentiate between refrigerator and heat
pump.

Write the value of pressure and temperature of
steam at critical point.

SECTION - B

Note: Attempt allthe questions from this section.

2, Atternptany twoparts of the following : [2x4=8]

a)

b)

8305/200

Eight bolts are to be selected for fixing the
cover plate of a cylinder subjected to a
maximum load of 980.175 kN. If the design
stress for the bolt material is 315 N/mm?, what
is the diameter of each bolt?

A heavy uniform rod of length 'L, cross
sectional area 'A’, and material density ' p' is
hung vertically with its top end rigidly fixed.
How is the total eiongation of the bar under its
own weight expressed”?

(2)

c) Defire following mechanical properties of

materials
Ductility, Hardness, Toughness and Creep

Attempt any two paris of the following. [2x4=8]

From a rectangular sheet of metal ABCD in

which AB=60 and BC=40 cm, a circle of 4 cm
radius is removed from the centre. Find the

a)

centroid of remaining portion.

b) Tension in cable BC is 725-N, determine the
resultant of the three forces exerted at point B

of beam AB as shown in fig 1.

ALY puiin

L

Fig. 1

c) Two identical rollers, each of mass 100kg are

supported by inclined plane and vertical wall as shown

8305/200 (3) (P.T.O.]




in fig 2. Find the reaction support at A, B, C and D.

Assume surfaces are smooth.

4, Attempt any two parts of the following.

a)

c)

8305/200

Fig 2

[2X4=8]

Draw the shear force and bending moment
diagram for the beam of length L having fixed
support at both the end and a moment M in

clockwise direction acting at the centre of the
beam.

Define truss. How the Trusses are classified 7

Explain method of section to find out the forces
in member in truss.

Derive the relation between (oading intersity,

shear force and bending moment,

(4)

5. Attempt any two parts of the following :

a)

b)

c)

6. Attempt any two parts of the following.

a)

8305/200

[2X4=8]

State the Zeroth law of thermodynamics. In 8
thermoelectric  thermometer for t71  C
temperature, the emf is given as: E = 0.003t -
5x107# + 0.5 x10°, volts. Thermometer is
having reference junction at ice point and is
calibrated at ice point and steam points. What
by the

temperature shall be shown

thermometer for a substance at 400 C.

A vacuum gauge mounted on a condenser
reads 0.55 mm Hg. What is the absolute
pressure in the condenser in kPa when the

atmospheric pressure is 101.3 kPa?

6 kg/s of air enters a nozzle at 1 MPa and 500
K and leaves at 200 kPa and 27 °C. The heat
loss from the nozzle is estimated to be 90 kW.
Find the velocity and area at the exit of nozzle.
Neglect approach velocity. Take R = 0.287 J/
kg K, Ratio of specific heats = 1.4.

[2X4=8)

Draw Rankine cycle on P-v and T-s diagram. In
a steam turbine installation running on simple
rankine cycle steam leaves the boiler at 10

(5) [P.T.0.]




MPa and 700 °C and leaves the turbine at 5
kPa. For the 100 MW output of the plant find
heat added in the boiler in kW and efficiency of
the cycle. Neglect pump work.

b) A cyclic heat engine operates between a
source temperature of B800°C and a sink
temperature of 30°C. What is the least rate of
heat rejection per kW net output of the engine?

c) Distinguish between S| and Cl engines with
proper explanation.

SECTION-C
Note : Attempt any three questions from this section.[3x7=21]

7. Draw shear force and bending moment diagram of
overhanging beam shown in fig 3. Also find maximum
moment and point of contra flexure.

40 kM/m

1- fe— 3m ——f15m —f—1.5m —§-1.5m —3

Fig 3

8305/200 (6)

8. Determine the forces in all member of truss in given

fig 4

Fig 4

9. Forces are acting as shown in fig 5. Find the
magnitude, direction and position of the resultant force.

500N 1000N
1000N o
a* T ’é-

8

h i Fig.(a)
. |

[P.T.0]
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10.

11.

Fig 5

Differantiate work and heat transfer. 3 m® of air is
contained in rigid insulated vessel at 50 °C and 150
kPa. A wax candle is burning in the cenlre of a vessel.
After one hour the final pressure in the vessel is 900
kPa. Find the change in internal energy of air and
mass of wax combusted in one hour. Assume calorific
value of wax as 8 MJ/kg and neglect the change in
volume of air due to wax combustion. Also find the
change in internal energy and work done by air in
vessel.

Define the critical point and dryness fraction of steam.
A pressure cooker contains 5 kg of dry and saturated
steam at 4 bar. Calculate the amount of heat that must
be rejected so that the steam becomes wet with 0.8
dryness fraction. Find pressure and temperature of
steam after heat rejection.

—— x -

8305/200 (8)




Question Paper Code : 8306
B.Tech. (Semester-1) Examination, 2017
PROFESSIONAL COMMUNICATION
(AS-104)
[Time: 3 Hours] [Total Marks: 70]

Note: This question paper contains three sections as follows

SECTION -A
1. Attempt any nine parts of the following: [9x1=9]
a) Distinguish between technical communication

and general communication.

b) Differentiate between intra-personal and inter-
personal barriers to communication.

c) Distinguish definite article from indefinite article
by citing two examples for each one.

d) Describe the requisites of a good sentence in
brief.

e) What do you mean by 'you' attitude in business
communication?

8306/300 {1) [(P.T.O]




f) .Distinguish between claim and adjustment

letters.
q) Explain the basic elements of speech delivery.
hj Distinguish between inductive and deductive

arder of paragraph development.

i) Distinguish humanistic approach from scientific
approach to human activity apropos M.E. Prior.

i) Who is the mother of the sciences according to
A J.Bahm?

SECTION -B
Note: Attempt all the questions from this section,
2. Attempt any two parts of the following: [2x4=8]

a) Explain the  features of technical

communication in brief.

b} Prove that language is a carrier of cultural
heritage.
c) Describe the flow of communication usually

followed in professional organizations.

8306/300 (2)

a)

b}

8306/300

3. Attempt any two parts of the following. [2x4=8]

Write the meaning of any four of the following
homophones and use them in statements:

i) Ensure, Insure

i} Adapt, Adept

i) Tamper, Temper

iv) Draught, Drought

V) Emigrant, Immigrant

Describe various methods to bring about unity
in a technical paragraph. lllustrate.

Correct any four of the following sentences:
i) My uncle has three daughter-in-laws.
ii) None but fools has believed it.

iii) She has the roundest face.

i) Delhi is London of India

W) Time makes worst enemies friends.

(3) [P.T.0.




a)

b}

&n

a)

b}

C}

B, Attempt any two parts of the following:

a)

| 8306/300

4 Attempt any two parts of the following:

Attempt any two parts of the following:

[2x4=8]

Define technical report. Signify its importance
for engineers.

What is technical propesal? Explain its use for
professionals.

Describe the qualities of a good negotiator
precisely.

[2x4=8]

Distinguish between extempore and impromptu
modes of speech delivery.

Describe the features of body language. How
could bad gesture spoil the outcome of any oral
presentation?

Distinguish between rhythm and intonation as
paralinguistic features of voicedynamics.

[2x4=8]

Critically evaluate the language of literature
and thal of science as enunciated by A. Huxley
in his essay.

(4]

F

Note:

10.

11.

b)

c)

What is the specific approach of Barmry
Commoner regarding the human survival in the
scientific and

wake of technological

advancements,

Explain the role of philosophy for all the
scientific discoveries as propounded by A. J.
Bahm in his essay.

Section =C

Attempt any three guestions from this section: [3x7=2 1]

Specify the causes of Organizational barriers to

internal communication in any organization.

Distinguish between Gerund and Infinitives by citing
two examples for each one.

Draft a claim letter pertaining to the damage of five

sets of computer systems out of twenty as per the
purchase order issued to the firm based at Delhi.
Invent necessary details.

Define attifude. Suggest different methods to transform

negative attitude into positive one.

Prove that man is not the master but part of nature

apropos the views of J. Bronowski in his essay.

306/300
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Question Paper Code: 8307

B.Tech. (Semester-l) Examination, 2017
BASIC ELECTRONICS ENGINEERING
(EC-101)

[Time: 3 Hours] [Total Marks: 70]
Note: This question paper contains three sections as follows.
SECTION-A
1 Attempt any nine parts of the following: [9'x1=9]

(a) A transistor has an emitter current of 10mA and
a collector current of 9.95mA. Calculate its
base current,

(b) What is p-type material and n-type matenal?
Explain.

(c)  What are the PIVs for full wave center tapped
transformer and bridge rectifier respectively?

(d) What is clipping circuit?

(e) Define current gain a & B.

8307/300 (1) PT.O]




(f) Why FET is known as unipolar device?
(g) List the ideal characteristic of the Op-Amp.

(h) A 200 watt carrier is modulated to a depth of
80%. Calculate the total power of the

modulated wave.
(i) What is the application of digital multimeter?
(j) Define Freguency Modulation.
SECTION -B
Note: Attempt allthe questions from this section.
2. Attempt any two parts of the following: [2x4=8]

{a) What is static resistance of the diode? How will

you find dynamic resistance of the diode?

(b) Draw the neat diagram of a full wave bridge
rectifier circuit. Explain its working in detail,
clearly making direction of flow of currents for

positive and negative cycles.

() Draw the circuit diagram of full wave voltage
doubler circuit and explain the working

operation.

8307/300 o

(a)

(b)

(c)

(a)

(B)

(€)

8307/300

Attempt any two parts of the fallowing: [2x4=8]

Draw the circuit diagram of a BJT emitter bias
and derive the expression for Quotient Point.
Write its advantage over BJT fixed bias circuit.

With a neat sketch, explain the working of a p-
channel depletion mode MOSFET.

Sketch a voltage divider bias circuit using an
npn transistor, Show all voltage polarities and
current directions. Derive the approximate

equations for Vg, lg, Ic and Wee-

Attempt any two parts of the following: [2x4=8]

Draw the structure of a JFET and explain its
principle of operation with the help of neat
diagram along its V-l characteristics. Define
pinch-off voltage and mark it on the

characteristic.

Draw and explain the circuit diagram for

Integrator operation using op-amp.

Find output voltage Vo for the op-amp circuit
shown in fig.1. Assume ideal op-amp.

(3) PT.0]




5. Attempt any two parts of the following:

(a)

(b)

(c)

6. Attempt any two parts of the following:

(a)

(b)

(c)

8307/300

Fig. 1
[2x4=8]

Draw the block diagram of the digital multimeter
and explain its working operation.

Explain the basic principle of digital voltmeter
with the help of suitable block diagram.

Explain how frequency and phase can be
measured using CRO.

[2x4=8]

With the help of block diagram explain the
communication system.

What is the need of the modulation? Explain.

Explain the demodulation technique of AM
wave with the help of suitable diagram.

(4)

SECTION -C
Note: Attempt any three questions from this section.[3x7=21]

T Determine Vi, I, lzand ls for the following fig.2

Fig. 2
B. Determine lc, Ve, Ve, Ve, and ls for the following circuit
shown in fig. 3.
20v
2.7k
510k
p=100
15k
Fig. 3
8307/300 (5) [P.TO]




F

g,

10.

1.

Explain the following terms in respect to op-amp (i)
input off-set voltage (ii) output off-set voltage (i) input
biased current (iv) slew rate (v) CMRR

Draw the block diagram of CRO and explain the
working operation of each block.

Draw the circuit diagram of NPN transistor CE
configuration and describe the input and output
characteristics, Derive the relationship between a & B.

Y

8307/300 (6)




Question Paper Code: 8308

B.Tech. (Semester-1) Examination, 2017

COMPUTER SYSTEM AND PROGRAMMING
INC
(CS-101)
|Time: 3 Hours] [Total Marks: 70]

Note: This question paper contains three sections as follows.

SECTION-A
1. Attempt any Nine Parts of the following : [1x9=9]
a. Differentiate between Compiler & Interpreter,
b. Differentiate between Assembly Language &

Machine Language.

-4 Give the examples of Arithmetic, Relation&
Boolean operators used in C.

d. Differentiate between signed & unsigned
integer variable used in C.

e. Give the syntax of switch statement used in C
Programming language.

8308/200 (1) [BET.O]




i Write the usage of break statement used in C.

g. Suppose an array of 10 integers is defined

what is the memory requirement of this array.
h. Write use of Union used in C.
i Define macros used in C
k Define pointers used in C.
SECTION-B
Note: Attempt all the questions from this section,
2 Attempt any Two parts of the following [2x4=8]

a. Draw the flow chart for finding the greatest

among the three given numbers.

b. Draw the block diagram of a Digital Computer &

explain the working of each part in brief.

C. Convert the following hexadecimal number into

binary number.

(ABFCO98T)1g = (=-=P=-===}2

8308/200 (2)

3. Attempt any Two parts of the following: [2x4=8]

a. Expiain with example the use of bitwise
operators used in C.
b. Give the syntax & semantic of Input & Output
statements used in C.
G Write program in C to know that whether the
given Integer is Prime or not.
4, Attempt any Two parts of the following: [2x4=8]
a. Explain with example how to replace a 'for’ loop
with a ‘while' loop in C
b. Write a recursive function in C for finding the
factorial of a given integer.
c. Write function in C for finding the sum of all
digits of a given number.
8. Attempt any Two parts of the following: [2x4=8]
a. Write function in C for finding the sum of the
diagonal elements of a given square matrix.
b. Write a function in C for finding the sum of n
integers stored in 1- D array.
C. Explain with example the use of enumerated
type data in C programming language.
8308/200 (3) [P.T.O.]




6. Attempt any Two parts of the following [2x4=8] 10. Write program in C for finding the transpose of a given

a. Explain the difference between following Lol
declarations in C programming Language: 11.  Write the syntax & use of the following C functions :
i) int a[10] 1) fseek( )
i) int *a i) ftell( )
i) int *a[10] iy rewind( )
iv) int (Ma[10]
b. Explain the different file access modes used in -

C pregramming Language.

C Write a function in C for swapping of two
numbers with the help of Pointers.

SECTION C |

Note: Attempt any Three questions from this section:

[3x7=21]
7. Write a program in C for converting a given integer into
its binary equivalent.
8. Explain with example different types of storage classes
used in C programming Language.
9 Write a program in C which accepts a number and

display it in words. ( Eg. 456-->Four Five Six)
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